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SET-4
Series SGN HIg .
Code No. 306
A F.
Roll No. ?%ﬂﬁg@ﬁ TG F 5

Candidates must write the Code on the
title page of the answer-book.

o A G F A foh 50 TeA-97 H Higd Y8 11 2 |

o TH-UA H TiEH TN Hl AR T T FIg T I BH IW-YEIH 6 JE-I8 |
ford |

o FHUA AT T h 39 IHIT H 26 T F |

o HUAT T T IW oG € wE & UgH, T w1 hATh 7avd ford |

e 3T YH-UA I U % AU 15 e &1 wHw fom mn R |y o foaor qatE
T 10.15 S fopaT IT@W | 10.15 S § 10.30 1 b B hadd IH-UF i TeTl
3T 39 27afy o QA o ITR-YEdept W Ig I 8! fore |

e Please check that this question paper contains 11 printed pages.

e (Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

e Please check that this question paper contains 26 questions.
e Please write down the Serial Number of the question before
attempting it.

e 15 minute time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer on
the answer-book during this period.

CIn]
TAXATION

FEiRa a7 : 3 a2 3BT 37% : 60
Time allowed : 3 hours Maximum Marks : 60
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AT 7597 :

G) @Y g7 fAard & |

(i)  ¥eI% FH 3 3F 3q% A7 1HT & |

(iii) Fo7 G189 TF & Fo7 3ld TY-IR & & a9l I3 Fo7 1 3% # & |

(lv) Y97 G&IT 10 T 17 T 3 J97 GIead I & & a7 Jodh J97 2 37 & & /
GIHT= ®Y & U4 UF J97 &7 IR 50 Feg] & 3718 &7 7871 817 =030 |

(v) Y97 GEIT 18 T 22 T% & Y97 1 GIeTd IR & & 9T Yodh Y97 3 37k HT & |
I &9 & UG T Y97 &1 IR 70 J53] & 37fere H7 787 5147 T30 |

(vi) T97 G&IT 23 T 26 T & 97 5 FW & & 7Y I IP YT 5 3 H & |
I~ &9 & 04 U Y97 H7 I 150 gl & 37ferk &7 7a1 5141 T30 |

(vii) IR HIered TIT [65aR &1 FeY |

General Instructions :

(1) All questions are compulsory.

(it)  Marks for questions are indicated against each question.

(iti) Questions no. 1 to 9 are very short answer questions carrying 1 mark each.

(iv)  Questions no. 10 to 17 are short answer questions carrying 2 marks each.
Answer to them should not normally exceed 50 words each.

(v)  Questions no. 18 to 22 are also short answer questions carrying 3 marks
each. Answer to them should not normally exceed 70 words each.

(vi)  Questions no. 23 to 26 are long answer questions carrying 5 marks each.
Answer to them should not normally exceed 150 words each.

(vii) Answer should be brief and to the point.

1. T A T 40,000 399 9T, S 50 i fasharmm 8 R St g W AR B, &
ferfercar IR W @9 fohU | Tag 91 80 DD o 3T=Fid fehd-l sheldl o Hehd
72

X spent T 40,000 on medical treatment of his dependant brother,

suffering from 50 percent disability. How much deduction can he claim
under Section 80 DD ?

2. YN 80 E o 3I=d1d hid haldl o Hehdl g ?

Who can claim deduction under Section 80 E ?
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3.  Torelt U I 1 A0 SATST STET 9T 80 G o SFid ITWEH T 100% herdt &f

STt 2 | 1
Name any one fund where 100% deduction is eligible under Section 80 G.

4. 9 87 A =T MR 99 2017 — 18 o T G 1 oM = 3 2 1
For the assessment year 2017 — 18, what is the rule for rebate under
Section 87 A ?

5 ¥ iU Al A1 higas Il | Sid ohl TRT T &Id T L hl
el ATt 7 | 1

Tax is to be deducted at source from winnings from lotteries or crossword
puzzles if the amount of payment is more than ¥

6. 92 % HE™ I Iooi@ HINT | 1
State the importance of VAT.

7. U yNfEdfd a8y a9 W e 9 shise &l fierar 8 | 1
Mention one situation when no input tax credit is available on purchases.

8. o forshl X o 3T=aria TNfyd a&qsti & 1 arcad § ? 1

What do you mean by ‘declared goods’ under Central Sales Tax ?

9.  THIIHS A H ¢ AT o ATH FATST, o T FHaT T g e | 1

Name two services in the negative list not chargeable to service tax.

10. U9, Ush (amEt safth, 3 T TEaa § 319+ fafehedn 3= ™ T 30,000
T fpu 3T o1 W vt g & fafercar STam © = 14,000 @9 fhu | aF
2 fafdse T @ difga & <t o fuffa mea gro ofa 2 |
Td 99 2016 — 17 |, T&H <l 94 & ™ T 4,00,000 2 |
gt a9 2017 — 18 & fofw wem &t 31/ i IO I | 2

X, a resident individual, spends ¥ 30,000 on his medical treatment in a

government hospital and ¥ 14,000 on medical treatment of his dependant

brother. Both are suffering from a specified disease as prescribed by
the Board.
Income of X from salary is ¥ 4,00,000 for the previous year 2016 — 17.

Compute X’s income for the assessment year 2017 — 18.

DSl oaded From : http://cbsepdértal . cont Court esy : PGBSE


http://cbseportal.com/
http://cbseportal.com/

Downl oaded From : http://cbseportal.conl

11.

12.

13.

14.

fafitor ¥ 2017 — 18 % foTu w afiss amie (Famdt) feeht oy 60 a9 =
3T AUk g 80 I | Y 7, hl I’ L o wid ST |

State the tax rates applicable to an individual (resident) who is more
than or equal to 60 years but less than 80 years, for the assessment

year 2017 — 18.

faftor a9 2017 — 18 % foTT AT i T T it TUET HINT | IHhT 3T Hh1
foreror foeaq 3

-
HehH THIM O 3 3,20,000
I Fidi ¥ A= 80,000
S o S9d @4 ¥ 3 5,000

304 pa-ceH ..U i Uer I W % ol d§% | T 5,00,000 HT F
fom 8 | 7d a9 2016 — 17 § 384 S S T 1,00,000 HT T 3T T 40,000
T TS FHRT 2 |

Compute the tax liability of Sunita for the assessment year 2017 — 18.
The details of her income are as follows :

z
Income from House Property 3,20,000
Income from Other Sources 80,000
Income from Savings Bank Account 5,000

She has taken a loan of ¥ 5,00,000 from a Bank to pursue a full-time
MBA. She repays ¥ 1,00,000 on account of loan and ¥ 40,000 as interest
on the loan for the previous year 2016 — 17.

T 9 2016 — 17 H WA 6l P AT T 12,30,000 7 R ITh! HT <l
T 1,99,820 8 | Eid W T heldl T 1,76,060 & | FT 98 AUH L & o fow

IR B 2 I I % qHAT § Sror i |

Total Income of X for the previous year 2016 — 17 is ¥ 12,30,000 and his
tax liability is ¥ 1,99,820. Tax deduction at source is ¥ 1,76,060. Is he
liable to pay advance tax ? Give reason in support of your answer.

e forshl Rt 0 o i o wE R 2

What is the importance of C Form in Central Sales Tax ?
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15. TE1 B RT3 ? TAT L hl TE@ {I9arsti sl 989 § FHST | 2

What is Service Tax ? Explain briefly the salient features of service tax.

16. TaT X o TE-Y U H-ART &9 1 ] 2 A AT ST F H-ATT &7 H B U
T TTedehal & N-hL-T1 & H &, d1 91 39 JdT W TdT oh AT 2 2

What is taxable territory in relation to service tax ? If the service
provider A is in taxable territory but the service recipient B is in
non-taxable territory, will the service be liable to tax ?

17. 991 X & ey | fauda Yook oF A1 S TAMTR0T & =1 aread g 2 2

What do you mean by reverse charge mechanism or tax shift with
reference to service tax ?

18. Siudt weq FA 9§ fAfHee ol § M Kl & | 79 98 2016 — 17 H 3=

frfafaa wa 9 ey fiet €

-
T I 5,00,000
TR = 50,000
g WieH (100 f&Ai o fow = 60 dfdfe 1 X W) 6,000

3G9 39 A9 HT 12% HT=IaT Ired 9iesy i § 31ereq foram 8 | 39
3 off 3aft & ufyr suh wiosy A A sweq i 2 | 3w wiosy A d 119 @
H T 11,000 AT 3Hh @A H FHT gL & |

it a¥ 2017 — 18 % U sfiudt o <A st 2Far <hl TUET Shifv | 3

Mrs. X is employed with ABC Ltd. She received the following allowances
and perquisites for the previous year 2016 — 17 :

<
Basic Salary 5,00,000
Dearness Allowance 50,000
Free lunch (¥ 60 per day for 100 days) 6,000

She contributed 12% of her salary to a recognised provident fund to
which her employer contributes the same amount. Interest credited to
her provident fund at 11% p.a. amounted to ¥ 11,000.

Compute Mrs. X’s tax liability for the assessment year 2017 — 18.
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19. TH (66 9¥) Tsh = HYMT 1 Tl g N 39 =W o a1 8 | 3°b W &

o o N
(AUl [ Henl % :

-
TR 7 1 TR 40,000
freaeg fertrn ou 50,000
s TRt 45,000
T G ARATICTehT s <l YITAT 4,500
s fiftrem 2,000
HehT ohl S o T R0 W = 25,000

Ig WA B Toh T A Sfted |1 i o1 data i & fw T 15,000 1 R0
ot a8 & gepar X fgan, fgfor a¥ 2017 - 18 & fofw 3weht & <xat &
TOET I | 3

3 Gidi 9 3&eh! 3T T 9,00,000 7 |

X (66 years) owns a house property which he uses for his residential
purposes. The details of the house are as under :

=
Municipal Valuation 40,000
Fair Rental Value 50,000
Standard Rent 45,000
Municipal Tax paid by X 4,500
Insurance Premium 2,000
Interest on loan borrowed for

construction of the house 25,000

Compute his tax liability for the assessment year 2017 — 18 assuming that
he repays the loan to LIC for construction of the property worth ¥ 15,000.

His income from other sources is ¥ 9,00,000.
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20. Trufor 99 2017 — 18 & foru oft wem 3 F=feiRaa ferawor g foru @ -

ELE|

[ TR & 3™
YT HT A

I Fial F I

g 80 C o FA=TIA hetdl
g 80 D % T heldl

T
1,10,000
62,000
10,00,000
19,000
50,000
20,000

g WHd gY foh IWH EI@ W B KA T 1,567,139 off, Igeh foia o

2016 — 17 <h! AT =T 2Far I TUET il |

The following particulars are submitted by Mr. X for the assessment

year 2017 — 18 :

Salaries

Income from House Property
Profits of Business

Income from other sources

He claimed deduction
Under Section 80 C

Under Section 80 D

1,10,000
62,000
10,00,000

19,000

50,000

20,000

Find out the advance tax payable by him during the financial year
2016 — 17 assuming that his tax deduction at source was ¥ 1,57,139.
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21. Tr=fafea s & fofw |id o &t Ferdl i g Famiy

(®) o

(@) fefet & s

(M) wfayfat @ s o Stfafes s

3 T feufai o foRat sTfrehad 3T L I 8 2 3

State the rates of tax deduction at source in case of the following
incomes :

(a)  Salary
(b) Interest on securities
(e) Interest other than interest on securities

What is the maximum amount of income which is exempted from tax in
each of these cases ?

22. gfe a1 Yerdr g Fan & forw off 7E wehet Uiyt # Qe o wiyfaq B, @t o9
AT HAT T Yo h¥ FA HUT ? IGE01 hi TR & TSy | 3
If gross amount charged by the service provider is inclusive of service tax
payable, how will you compute the value of taxable service ? Explain with

the help of an example.

23. fadfiw av 2016 — 17 % fau #ft wew gro fFefaRaa faawor O fopn € | g
80 C, 80 CCC, 80 D 3T 80 DD o T=q7id =heldl shl T T ShIfTT :

(%) T@a Hi em Ao uiferdlt w Sfreq s fiftew 15 o=, 2017 =
feam I - T 40,000

Q) e afes g @ S| 2 1,20,000

Sitad ST fm % U9 % 1 PTaE ;T 10,000

) I W Rk fuan (69 oY) & Tareey W wreey sy fiftem - ¥ 25,000

) 31 W R 9 % ST W @E ;T 40,000 5
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From the following particulars submitted by Mr. X for the financial year

2016 — 17, find out the amount of deductions he can claim under Sections
80 C,80 CCC, 80D and 80 DD :

(a) Life insurance premium on own life policy paid on
152 March, 2017 : ¥ 40,000

(b)  Contribution towards public provident fund : ¥ 1,20,000
(c) Contribution towards LIC pension fund : ¥ 10,000

(d) Mediclaim insurance premium on the life of dependant father
(69 years) : T 25,000

(e)  Medical treatment of dependant brother : ¥ 40,000

24. Td 99 2016 — 17 % U oft wem (81 a) S A R =g o faawer F=fataa

3

-
SadTRIS A= 11,00,000
Al @ I 1,00,000
YRR S &1 9gmET a4 & it TWehr &l @F 1,30,000
et s iy o s ufy 1,00,000

fufor a9 2017 - 18 % fw vag fl e ST st eI R AT HAfUW | 5

Following are the particulars of income and expenditure of Mr. X
(81 years) for the previous year 2016 — 17 :

3
Business Income 11,00,000
Winnings from Lottery 1,00,000
Donation to Government for
promotion of family planning 1,30,000
Contribution towards Public Provident Fund 1,00,000

Compute X’s net income and tax liability for the assessment
year 2017 — 18.
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25. WA 99 2016-17 % ffafgd oy o =T & MR W fuRm

I8 2017 — 18 o fIQ weg bl T eFar skl TUMAT T -

T
TR g 8 A= 6,70,000

TR ffeal | = 30,000

T < sk T 3Teushlen qSiiTa oy 50,000

ag W o ToBhd T TeehTel | YoiTd arH 1,00,000

T ° IUER 60,000

3ot Sftae sffwn aifere @ Sfam st sifiem

(utfere THH T 80,000) 20,000

T W TUar (80 9¥) o TaTEed W

ey i1 i 35,000 5

Compute tax liability of X for the assessment year 2017 — 18 from
the following details of income and expenditure for the previous year

2016 - 17 :

z
Income from house property 6,70,000
Interest on Government securities 30,000
Short term capital gains on sale of gold 50,000
Long term capital gains on
sale of listed shares 1,00,000
Gift from a friend 60,000
Life insurance premium paid on own life policy
(sum assured T 80,000) 20,000
Mediclaim insurance premium on life of his
dependant father (80 years) 35,000
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26.

g foeefl B uh fashar 3 | 98 awqsli %, @, T, ¥ IR T H A<= fosha
TR |

ar TIHT BT I 3T T
% NSl

EC| 1-5%

T 3%

q 4%

S 6%

a1y foshl st skl Tl (X)) 0 Bft, afe
() S el e o T R

(@) Shal ISfihd shal &l &

X is a dealer in Delhi. He makes inter-state sale of goods to A, B, C, D
and E.

Buyer Local tax or VAT rate
A Nil
B 1-5%
C 3%
D 4%
E 6%

What will be the Central Sales Tax rate, if
(a)  Buyers are registered dealers and issue C Form

(b)  Buyers are not registered dealers
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